B B B & % B[] v s A 5%
SRTHES A 1 H B/E

| El i Bl Hfr &8 (FiiA)
XEE éh%ﬂ@%mi FEPH = 13 2,200 [1
@%‘WA 13 2,200 M
ﬁmi(@) 138 3,300 Y
m%&%i(ﬁ) 1@ 3,300 M
SEpEREE (J@) 138 3,300 Y
HE T Y &3k I EE HEEN 138 1,100 [
AE A PRIRAE 12 W 138 5,500 [
- PRI A BERE R & 138 5,500 H
A A DRI DR i R 3 A 2 138 5,500 [
TR E PR AR PR bR e R R A 13 5,500 4
B S AR R W 138 4,400 [
T %&%mi 138 3,300 H
xﬁﬁ?iﬁﬁ 1@ 3,300 M
%%%E%ﬁ %%% 13 5,500 Y
[ A A2 1@ 5,500 [
W5 % BN k%? & 138 2,200 H
FEAH I L R R 2 1T 138 3,300 Y
%&ﬁékiﬁﬁ&%v%% 1@ 4,400
it AFT A2 Wi 1@ 2,200 M
AR LR mi 138 2,200 H
ﬁﬁ%ﬁﬁ%%ﬁ@k% 138 5,500 [
@@%mﬁft%“%é 13 5,500 4
zmﬁf%u’r%eﬂ%ﬁ 138 2,200 Y
SRR R ER (?%) 13 2,200 4
fiERH SRR %(ﬁ%) 138 4,400 [
R L RE 138 1,100
B o HEEH & 1@ 550
A = R A4 FGE 138 550 Y
I R i B 138 220 M
Pl A TN (6 5Am 1 EA) 1M 4,400 [
AN Y (6 5AM2EH) 1 [A] 3,300 M
A7 (6 5Ll E) 1 [=] 1,650 H
JiREKE (==2—FENNy 7 R) 1 [=] 7,700
MiRERE (FL_F—) (6 5%l L) 18] 10,230 9
HAERA 1[q] 20,032
RS iE] 11,122 4
*?i{ﬁ'é/:.\ 1 [A] 5,523 M
—FERA (B 2H) 1 [A] 4,967 1
BCG 1 [A] 12,881 [
WZRZIREG (6 EATH) 1 [A] 12,447 1
ﬁ%ﬂ%mn(6ﬁuh) 1[q] 10,605 M
Wiz (6 mEARTm) 1 [A] 8,905 |1
ﬁ%(6ﬁuh) 1[q] 7,063 [
% (6 mEA) 1 7] 8,905 [
Bz (6L L) 1A 7,063
H AR (6 38ATH) 1 7] 7,200 Y
HAMMZ% (65m2hE) 1 [A] 7,112 H
vt7 (77 he7) 1 [A] 8,814 1
MiRERE (v~ —)  (65ARN) (13, 151f) 1 [A] 11,892 [
QA UANVATIFy (aF )y 7 ZANAK) 1 [A] 14,580 [T
K 1A 10, 742 M
Bl hE (6 AR 1 7] 8,250 [
Bls<nt (6L E) 1A 7,480 M
ATIFR (6 A ) 1 7] 8,800 [
A@H%(6ﬁui) 1 [A] 11,000 M
BAFZ (6 mkAm) 1 7] 5,498 1
BRIFH. (6Ll E) 1 [A] 5,674 H
B F 2 Y A R (6 BRI 1 7] 4,840 [
EE YA R (6mUE) 1 7] 4,070 [
IR Y 7 F v 1 [A] 9,350 [1
WREB U s T ) v I R) 1 [A] 22,000 [
FESHANPA TV 2 F v (H—F L) E] 16,135 [
FESENPATEV 2 F v (AT —F9) 1 7] 26,158 [
=AY )L FHERE Y b E] 3,100
RSUANAY T F > (ERAED 1 [A] 34,100
RSUANARTZF > (FAMAIT) 1 JA] 27,500 [
FManFIANATIFL (aIFT 4—) 1 7] 15,637 [
a0 F A NATIF L (XXX E Y R) & 16,236 [T
EER AR MR PE i NFF2 ?ﬂ(m‘) FEFRBL 1 7] 5,000 1
FEMm AR 226 (Fa2) FEFRBL 1 JA] 2,000 1
2 & B IEIRZ (#ﬁ&] 1 7] 2,500 M
e B [FERRBL 1 JA] 5,000 [1
i mAr  [FEER 1 7] 1,000 M
BRBEEAZ V—=v 7 HE R 1 JA] 4,000 1
BIRBEEAZ Y —=v 7A@ [EET0) 1A 4,200 M
BiEEy N [FERRL 1tE 8,000 [
SRR HR S i AR 1 [A] 200,000 [
OB e [FEFREL 1 [A] 315,000 M
SOMREAREE BRSO RERISL  [FERRRL] 1A 220,000 4




H B B & # T h g f AR

SRTHES A 1 H B/E

| El i Bl Hfr &8 (FiiA)
O BRIREE  BURe  WEREISS  [FEEEEL] 1 [A] 345,000 [
SOMREAREE  BIR M BRIR - KA FEFRBL 1 7] 230,000 4
ORI BRe  TRAK - KA FEFRBL 1 [A] 360,000 4
SRRl BR EOIBH FERRRL 1 [A] 120,000
SrMRBGEEEE U T OIEH FEFRBL 1 [A] 195,000
SEEREE ERE 2 2 @R R 1 7] 200,000 4
Oy IREE  WREEST B  [FEEEEL] 1 Ja] 50,000
MedgiEesl  [IERRL] 1 7] 1,500 [
PRI AL E R CEGEAH - FE P%) [FE3EL] 1H 3,000 4
R~y =y [P 1 7] 2,000 Y
AR AR R [FERRL 1H 10,000 [
FAERME (Bof)  XEBAROEE [EEFL] 1H 200 H
ERMERBEFEHRA  [FEHEL] 1 Ja] 3,500 Y
FrAERMETRE  [FERB 1 7] 5,000 Y
e REZE  [FERRL] 1 Ja] 4,700 [
K2yuy7 (FER) [EET0) 1 7] 500 Y
BEAEY 7 AL OSIH REEER]) (X v—T [RI%E) 1 Ja] 38,500
BT Y 7 ik ORBEER)) 1 [A] 6,600 [
Tt NGREAT TR} 1 [H] 132,000
AN LR HOMT AR 1 258K maliko 84 +22, 000 1 7] 110,000 M
N LHEHR #1238 0L 18] 220,000 4
A LAl (NIRE OB A) AEIR 9 8 A 1 7] 110,000 [
BB KRR GERD  [FEiERL] 1 Ja] 4,000 [
BEEA Y 78 (@) #E 1 [A] 11,000
BEI Y 7R (EE) 2 EIHUE 1[a] 4,400 [
Ptk Kk (HIR) 18] 74,800
Pt BT WEEMRA (HR) 1[a] 74,800 [
PSR Kk (HiR) +FISHE 1 7] 83,600 [
BhPERT SN AHER - FRERE 1[a] 1,100 [
HARTRE (i, HERAET) 18] 167,937 [
HAE RITRR A 14 e E 2 TR A 1[a] 108, 260 [
BRCAZGHERE (v LY A M) 1 7] 44,000 [
PRGBS th RAC=F e (IET - U3 0022125, 50 0 k) 6 0% 11,000 [
ALk S N 18] 3,300 Y
F 1R 2,200 1
PIEE - R o E— 1 # 22 H
X—P74)Lhat’— (B4) 14 1,210 [
X—P74vhab— (CFL) 1 # 1,430 H
AT 4 TIZ L DM (DVD-R) 1% 2,200 M
R T A 1 [A] 5,500 H
£ DAth, JPi AT 5k 1H 66 H
SHE RS SR 1H 275
SLIBREZ R 1[A] 5,170 [
K2vuy”/ 1 [A] 550 M
Fi P RBICKIT A AIAERA 7 U —= 2 T 1A] 9,900 [
e R CrERE L) 1A] 11,000 [
BE 1% L E B 1 [A] 5,500 M
K 1% 3,850 M
BieofR 5 77 H
Riwt GHFR2HEAE) XA iE 1 0km A 1A] 250
Riwt GHR2HEE) X AiE10kmPl 1A] 1,000
v U @sk  wiEHE R (WI2ED 1A] 5,500 1
ve UESK Bk 1 [A] 1,100 M
vro U@k ylEdER (Ea ) @ftikiE+ 7Y F ) 1A] 4,400 [
v U gishck BRE 1 RH CEAERE ) 1A] 5,500 1
v U gishck BRE 20 H CGEAERE ) 1A] 5,500 1
v U gishck BREE 3 RH CGEAERE ) 1A] 9,900 [
vo U gk BRETRESR OHERAEE GEETHURERA) 1A] 3,630 M
v U @SR BRETAEE OHERER (RFMERERER) 1A] 6,369 [
SARS-CoV—-24Z i 5 Hi 1[q] 11,000 1
H B V 5 RGN IR A 1A] 24,750 [
HBVHY 7Y = ) #A THERE 1 [A] 16,500 1
INA T T T HE 25mg 18 1,210 M
INA T 7 FHE 50mg 188 1,430 M
a7 EE Ing 18 275 M
HH—ah I 1CP 407 M
VT ARDIT  (H 1O X) 1 [A] 4,400 [
FLF A B VR 1 [A] 5,500 M
FLF A R HE 1 [A] 2,200 M
bUTF A RS FREE (WEDH) 1 [A] 5,500 M
MLF A R AR 0. 1%LF /A V7 Y —2D) 1 [A] 5,500 M
MLF A R AR (0.4%LVF /A V7 Y —2D) 1 [A] 6,600 [
MLF A R AR %A Fax /7Y —L) 1 [A] 4,400 [
Ne—L—¥— ¥ 1 7] 5,500 Y
NE—L—%— HP 1 [A] 2,200 M
Ne—L—H— BE (laiy) 1A 11,000 [
REEH A L —H —1hE (1F< A - FH) smld T 1mmk & <725 I &122, 000 B0 L& 11,000 [
RIBEH AL —P =i (1F< A - 5<HA) bmm ImmKkE <75 I L1122, 00080 L& 15,000 [
REEH A L—HF—1hFE (WIE) 5mmPh T ImmK X< 7225 2 2121, 0003800 L& 11,000 M
Frak47DX 1 [A] 440, 000 |H
SHETRIE E~V A > MER 1 385, 000 |
BHEIRBE~L A~ b (T =X EREEDRVGE - RO, 9 R%IC X D HIHRIE) 11 110, 000 |
SHETERBIE~L A > b (T — 2 ERZ LS 56 - IREIINAE B2\ X 2 %) 1 {1 165, 000 |




